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1 HTTP stand for .
(A) Higher Text Transfer Protocol (B) Hyper Text Technical Protocol

(C) Hyper Text Transmission Protocol (D) Hyper Text Transfer Protocol
(E)  Question not attempted
eIk N |
(A) BRI SR TEHL TSl (B) BN R TIohet TICIehict
(C) THEW IHRL ZEHIH Tttt (D) THEW IHRL IR Telshiel
(E) a9

2 Where was Asia’s largest civil aviation event, ‘Wings India 2024’ held?
(A) Kochi (B) Lucknow
(C) Mumbai (D) Hyderabad

(E)  Question not attempted

TIITIT ShT T ST AT IS sk, foe gfear 2024 et stmenfsra foram e o

(A) @i (B) @IS
€) ¥=3 (D) TEETE
(E) a9
3 Who is the I** Indian Woman Athlete to win three Paralympic medals?
(A) Mona Agrawal (B) Avani Lekhara
(C) Sheetal Devi (D) Kanchan Lakhani

(E)  Question not attempted

o Yrcifues yees Sfiad arelt uee Yrdi afee wadie i 82

(A) HFT STTETA (B) 3l i@
(C) Sftder et (D) e EHt
(E) 3rgaid o

4 What will come in place of the question mark (?) in the following series?

frefafad Soft & weramees fomg (2) % T T ST

16, 33,98, 197,590, 7

(A) 981 (B) 1081
(C) 1181 (D) 1281
(E)  Question not attempted / 313?[['\{?[ Iq

5 Find the simple interest on ¥ 4,000 at 6l % per annum for the period from 4 feb. 2009 to 18" April 2009.
(A) T37.50 (B) T75.50
(C) T50.00 (D) T90.00
(E)  Question not attempted

4 HTEE 2009 F 18 319 2009 ek hl 371 o foTT T 4,000 | 6% e sl 3T & W1 SIS J1d IS

(A) T37.50 B) 7550
(C) 50.00 (D) 90.00
(E) a9
6 In a certain code language, ‘life is good’ is coded as ‘ti ve su’, ‘enjoy life’ is coded as ‘fs ti’ ‘character should

be good’ is coded as ‘nx, nu, bs su’. What is the code for ‘is’ in the given code language?

Rt g aTT d “life is good’ T “ti ve su’ ‘enjoy life’ T “fs ti’ “character should be good’ T ‘nx, nu, bs su’
IS ToRaT ST 81 36T 2T 715 i< ATOT H “is” o T T hiS &2

(A) t B) ve

(C) su (D) nu

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

Q13] J& 2 [ P.T.O.



7 P,Q,R, S, T, K and M are sitting in a straight line all facing north direction, but not necessarily in the same
order. There is only one person sitting between K and R. T sits between P and S. There are only two persons
between T and M. K sits on the immediate left of P and P sits in the middle of the row. Which of the following
pairs of persons are sitting at the extreme ends?

P,Q,R, S, T, K 3 M w+ft 3t farem ot 37 7w ek wiieft ares 7 31 & aifert st 2t 2 o et foreft s @ 913
Nl K UF R & Heg halel Ueh STeh a1 81 P U S h Hed § T 93T 21 T 3 M o sft<l H Sharet &1 SAfth 93 81 P & 77T
ST SR K 3T & STR P A1 o oft<r | sfat 8 fFfcifiad # 8 &4 @ 21 =i foreshet foh /i T oS 82

(A) R,Q B) S, T

(C) K,M D) T,M

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

8 In humans receptors for opioids are present in
(A) CNS (Central Nervous System)
(B)  Gastro intestinal tract
(C) Respiratory tract
(D) Both CNS (Central Nervous System) and Gastro intestinal tract
(E)  Question not attempted

LIEER:EC IR T ECC RN % Hisfe fafime fifusiise bt (e @ sy 9 €
(A) s AR (B) AT
(C) &G et (D) 3 dfAehT o T STSUA 9 ST
(E) i yy
9 Select the reptilian member found in Rajasthan :
(A) Indian Porcupine (B) Indian Chameleons
(C) Wild boar (D) Buzzard

(E)  Question not attempted
TSET | 1T ST a1l 99T 6a% o1 =9 hits

(A) R HE (e wghium) (B) e firfire (gfeam Fraferr)
(C) STl IR (AT ) (D) T5=is
(E) 3rgaid 9
10  Which of the following will undergo faster bio-degradation?
(A) Mango seed (B) Mango peel
(C) Mango pulp (D) Mango wood

(E)  Question not attempted

TR & Fa 3T Al § SI-3798e [heH BT o7

(A) AT F i (B) 31\ & foosh
(C) IWMFT (D) A T AR
(E) orfaiaug

11  Complete the sentence given by choosing the most appropriate word:
A person who admires/loves himself/herself too much is a-
(A) Narcissist (B) Narcisus
(C) Novice (D) Numismatist
(E)  Question not attempted

Q13] J& 3 [ P.T.O.



12

13

14

15

16

17

18

Choose the word opposite in meaning to-

SUSCEPTIBLE
(A) incredible (B) immune
(C) predictable (D) unpredictable

(E)  Question not attempted
Choose the word similar in meaning to the underlined word:
It is exasperating to listen to the suggestions of my neighbour about international affairs of which he knows

nothing.
(A) disappointing (B) amusing
(C) Dboring (D) frustrating

(E)  Question not attempted

Choose the most appropriate option to complete the sentence:

The language of a circular is:

(A) vague (B) emotional
(C) objective (D) round about
(E)  Question not attempted

Choose the most appropriate word to complete the given sentence:

The City Centre Mall was crowded tourists.
(A) by (B) of
(C) from (D) with

(E)  Question not attempted
Some metals sink in water, as:

(A) their density is more than water. (B) their density is less than water
(C) their surface area is less than water. (D) their mass is more than water.
(E)  Question not attempted

F UTq¢ STl H I STl &, A -

(A) 3T Ofcal ST § 31freh BT & (B)  3ehT Olcel STt § A BT &
(C)  37ohT UEIT & STt o hH &Il & (D) STehT ST STt | 3Tfereh B &
(E) 3wl o=

Brass is an alloy of :

(A) Copper and Zinc (B) Copper and Tin

(C) Tinand Lead (D) Iron and Nickel

(E)  Question not attempted

WW&ﬁ\% %T@% -

(A) T AR e i (B) I AR feahr

€) fasimaeh (D) Qe 3R et it

(E) Srgaiaug

Find the numbers of triangles in the given figure:

SR g e 3 B ot s e

(A) 27 B) 29

(C) 31 D) 17

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

Q3] J& 4 [ P.T.O.



19  Kavita is mother-in-law of Seema who is sister-in-law of Ashok. Ajay is father of Vinod and only brother of
Ashok. Seema is wife of Ajay How is Kavita related to Ashok?
(A) Mother (B) Sister
(C) Mother-in-law (D) Wife
(E)  Question not attempted
hforerT, EHT sl T R ST 37%Meh hi Wit 21 31, forie o fUaT 3t 313iier & Sehciid WS &1 T 315 Y Ut 2
I TR ¥ fohd TR Haifera 82

(A) =t (B) @&
€ w= (D) 9t
(E) Srgafiaug
20 If North-East becomes West, South-East becomes North and so on. What will East become?
(A) North-West (B) South-East
(C) North (D) South

(E)  Question not attempted
TS TG ITEH S ST &, FA0T-9e I & ST & S FET T 5hH T&AdT ST & al qal T S ST

(A) SW-ufgm (B) afr- e
(C) W (D) afequr
(E) SFfaiawy

21 A cube is colored green on all faces. It is cut into 64 smaller cubes of equal size. How many cubes are there
which have only one face coloured out?
T B () | AT T o B O T 1T ST & ST qel 36 TH HATHR % 64 DIS-BI =T (FIST) H FH1eT I 2
U e o (e BT fSehT Tk o & Tfie 2t
(A) 20 B) 22
(C) 24 (D) 26
(E)  Question not attempted / H@ﬁﬁﬁ Iq

22 gEf IR gEf -1 o gafoa it

T -1 (FWET Ug) Tt -11 (|HTE)

a. g L

b, fnim . %

c. WM . wgshife

d. &g V. e
et fw T forhedt # & Wi U ST T ;
(A) a-Lb-IV,c-TLd-1II (B) a-MLb-Lc-IL,d-1V
(C) a-ILb-TLc-IV,d-I (D) a-IV,b-MLc-1Ld-1I
(E) a9

23 BRI WSS H VAT -

(A) ®B) =
© = D) 37
(E) 3rgaid 9

Q13] J& 5 [ P.T.O.



24  Who was the first person to use word ‘Rajasthani’ for the language of Rajasthan?
(A) George Abraham Grierson (B) George Lincon Garryson
(C) George William (D) George Franklin
(E)  Question not attempted

TSTEAT Sl HTST o I “Trrerit 31eg st T ga gy forer safen 3 foram

(A) STt STsiTed iR (B) STt foieh TG
(C) i ferferem (D) STt Sharfor
(E) raid 9

25 With which occasion is the ‘Kacchi Ghodi’ dance associated?
Choose the most appropriate option from below:
(A) Navratra (B) Holi
(C) Teej (D) Marriages
(E)  Question not attempted

1 5 & T S forehed <

(A) T (B) ®IeAt
(C) it (D) faam=
(E) gaid 9

26  The life history of the saints which is available in poetry form in Rajasthani language is known as

(A) Parchi (B) Vaat
(C) Vachnika (D) Dawavait

(E)  Question not attempted
el T SIS T ST USTETT STST H Sh1e? &9 § JUeTeH &, aelTaT &:

(A) U (B) dmd
(C) w=fe (D) gEmEd
(E) Srgaiaug

27  World’s first cloned buffalo was born in which country?
(A) India (B) China
(C) USA (D) Russia
(E)  Question not attempted
EREIRESIESIEREE R TG EN TR RIY
(A) ¥Rd (B) =
(€) Fwy D) ==
(E) a9

28  When is the National Sports day celebrated in India?
(A) 21 August (B) 23 August
(C) 25 August (D) 29 August
(E)  Question not attempted
ARG B TS WA o ahel AT STTT 27
(A) 21 JTEd B) 23 3T
(©) 25T (D) 29 3ATE
(E) i@ yy

Q13] J& 6 [ P.T.O.



29  Who among the following is the author of the book titled ‘Why Bharat Matters’?
(A) Rajnath Singh (B) S. Jaishankar
(C) Nirmala Sitharaman (D)  Amit Shah
(E)  Question not attempted

frfeifiaa & € M aT3 SR Hedl” AT Teeh o s o7

(A) Ty foE (B) TH. SRIHT
(C) fadar darmor (D) wAfa e
(E) 3rgaid o

30  Aman takes 5 days more than Bhanu to do a certain job and 9 days more than Pankaj. Aman and Bhanu

together can do the job in the same time as Pankaj. How many days Aman alone would take to do it?

I IS M A | AT S o SR dehet § 9 ot 317ereh oy orelT 21 39 STR AT Tierert 39 ol ohi ot o Tt
o GHT §HY A & 39 1 ol I B 7 3okt A fohd T 2T w09t o

(A) 5 B) 15

< 20 (D) 25

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

31  Ajay invested a total sum of ¥ 7,100 in three different schemes of simple interest at 3%, 5% and 7% per
annum. At the end of one year, he got same interest in all three schemes. What is the amount of money
invested at 5%?

IS T 3%, 5% HIT 7% T a9 ol T H HTEROT TS ohi A1 STHT-STRT ASHIST H Ha I 7,100 T ot foram)
T TN oh 37 H I AT SIS H T TS Tl 5% 9 e 3ht 78 aefer s 22

(A) 3,500 (B) T2,500

(C©) 2,100 (D) 1,500

(E)  Question not attempted / H@ﬁﬁﬁ Iq

4 )
32 The value of 1028v16 +25% of 512 — — of 75 is :-

5
4
102816 + 512 T 25% — 75 &1 5 A -
(A) 4,700 (B) 4,910
(C) 4,180 (D) 5,900

(E)  Question not attempted / H@ﬁﬁﬁ Iq

33  Choose the most appropriate reported form of the given sentence:
“Do you realize that the shoes you are wearing aren’t a pair?”, I asked.
(A) TIasked that was he aware that his shoes aren’t a pair?
(B) 1told him that his shoes aren’t a pair.
(C) I asked him if he realize that his shoes were not a pair.
(D) TIasked him if he realized that the shoes he was wearing weren’t a pair.

(E)  Question not attempted

Q13] J& 7 [ P.T.O.



34  Choose the most appropriate option to fill in the blank:

“Is dad in?”

“No, he isn’t. He home an hour ago. He yet.”

(A) Leave, not returned (B) Left, has not returned

(C) Leaves, didn’t return (D)  Will have, has not returned

(E)  Question not attempted

35  Choose the most appropriate option to fill in the blank:

By tomorrow afternoon, the plane carrying medicines for war victims off for Ukraine.
(A) will take (B)  will be taking
(C) will have taken (D) takes

(E)  Question not attempted

36  Match List-I with List-II
gt -1 % gl -1 | gafora i :

List-I (Decimal value) List-I1 (Binary value)
Tt -1 (IHAS o) Tt -11 (B 7o)
a 4 L 1000
b. 5 II. 1001
c. 9 1. 0101
d. 8 IvVv. 0100
Choose the correct answer from the options given below:
<R o e fer 8w SRR
(A) a-IV,b-I,c-1L,d-1I B) a-1V,b-1l,c-1,d-1
(©) a-LILb-IV,c-1,d-1 D) a-ILb-ULc-1V,d-1

(E)  Question not attempted / ?ﬂgf‘lif[ﬂ Iq

37  “USB”stands for  ?
(A) Universal Serial Bus (B)  Universal Series Bus
(C)  Universal Sequential Bus (D)  Uniform Series Bus

(E)  Question not attempted
“q;\w aTn T qc-\u-i: q ?

(A)  Firade i | (B) IfoEe Hife o
(C) Ieoda HiaeiReEd o« (D) IwH €S a9
(E) Srgaiaug
38  Which of the following translators converts high level language into low level language at once?
(A) Assembler (B) Compiler
(C) Interpreter (D) Controler

(E)  Question not attempted

frafefiaa & & 9 A1 STTaTee Ioa T WTST &l T & o’ H Al et WTeT # aiafdd & a7 82

(A) STHTR (B) HUTSR
(€) 3emA (D)  hele’
(E) 3rgaid 94

Q13] J& 8 [ P.T.O.



39  Tors, block mountains, rift Valleys, bare rocky structures are physiographic features of which of the following
regions of India?
(A) The Indian desert (B) The Island groups in India
(C) The Peninsular Plateau of India (D) Northern plains of India
(E)  Question not attempted

2T, SCToh Taid, WRT BTea, T g STeTS WA o eferad o & fore & i Jatmepta fomarnd &2

(A) VAT A&t (B) W 9w e
(C) YT T IIEHT U8R (D) ¥RA & S AgM
(E) raid 9

40  Who among the following is not appointed by the Governer of Rajasthan?
Choose the most appropriate option from below:
(A) State Election Commissioner
(B) Chairman of the State Public Service Commission
(C)  Vice Chancellor of State Universities
(D)  Chief Justice of High Court.
(E)  Question not attempted
freafarfiaa & & forr Troreer o TsaraTet T foreh it fofa StaT &9
frfeRad o & ged S0 foehed <l
(A) TST Mat=H 3T
(B)  UST clich YT AR o 3Te8
(C) TSF foraferaner o Farafa
(D) 3=| AT % W& =TT
(E) rgaid 9

41  Under Article 323 of the Constitution of India, the State Public Service Commission has a duty to present an
annual report as to the work done by the commission, to whom?
(A) Chief Minister (B) Governor
(C) Vidhan Sabha (D) President
(E)  Question not attempted

I o EITET o 3TTo8 323 o A8, TST Aleh Hall ST ol Feied & oh I8 ey STTANT §RT o T3 el o o

o fopdt wicrera e L
(A)  TeaHA (B) TSI
() foramre (D) rsgafer
(E) a9
42  Which Article of Constitution of India, deals with the duties of the Chief Minister of State?
(A) Article 162 (B) Article 167
(C) Article 164 (D) Article 165

(E)  Question not attempted
AT HTeT 3T i AT AT o8 TS o JEAHAT o Sheiodl 1 AU HLal o2

(A) 3FT=E 162 (B) 3T=E 167
(C) 3FT=e 164 (D) 31T 165
(E) 3rgaid 9

Q13] J& 9 [ P.T.O.



43  Which Indian received the ‘Green Oscar’, Whitly Gold Award 20247
(A) Amrita Devi (B) Alice Garg
(C) Purnima Devi Barman (D)  Tulsi Gowda

(E)  Question not attempted
forer et ot “ofi SHATERU, Seieet! TMies JUEhI 2024 JTH g1

(A)  3Far (B) Ufermmi
(C)  qforAT 3oft i (D) qert T
(E) orpaiaug
44  Who is the chairman of the committee set up to examine the issue of holding simultaneous elections in India?
(A) Shree Ramnath Kovind (B) Shree Vijaypal Singh Tomar
(C)  Shree Baburam Nishad (D)  Shree Laxmikant Bajpai

(E)  Question not attempted

A H T |1 AT U o e, ohl S oh (T8, TS HI o STETET hi o7

(A)  off TEATY HifdE (B) it fosture fig dme
(C) = s fwre (D) it eafienia sTeoRft
(E) 3rgaid o
45 2023 Arjun awardee, Divyakriti Singh of Rajasthan, is associated with which one of the following?
(A) Equestrian dressage (B) Equestrian cross country
(C) Equestrian hunter trails (D) Equestrian show jumping

(E)  Question not attempted

TSI ST TS| qUeaRR 2023 2t forsran, feewepfa fife, ey 7 & form @ weifera 22

(A) HSHAN U (B) HSHAT 1€ gl
(C) HSHAN & o= (D) TSEART I SAfRT
(E) raid 9

46  Who was the Chief Secretary of Rajasthan as on 5t September 2024?
(A) Satish Kumar (B) Jagdish Meena
(C)  Subhash Chand (D) Sudhansh Pant

(E)  Question not attempted

TSTET o T |irel (05 vt 2024 2hT) i 92

(A) G FAR (B)  Srater Hiorr
©) gum=< (D) g ud
(E) Srgaiaug
47  Who among the following was the first Chief Secretary of Rajasthan?
(A) Shri V. Narayan (B)  Shri Apurva Chandra
(C)  Shri K. Radhakrishnan (D)  Shri Rajesh Bhushan

(E)  Question not attempted

frfafiaa o & TsTeaT % word e g i 24

(A) =t AR (B) it 37qe =
(C) it . T (D) oft TSt ST
(E) 3rgaid 9

Q3] J& 10 [ P.T.O.



48  When was ‘Direct Action Day’ celebrated by Muslim League?
(A) 15 August, 1945 (B) 16 August, 1946
(C) 16 August, 1947 (D) 20 August, 1947

(E)  Question not attempted

(A) 15 37T&d, 1945 (B) 16 37T, 1946
(C) 16 3TEq, 1947 (D) 20 3TEd, 1947
(E) a9

49  Which art form is Mangilal Mistri associated with?
(A) Shahnai (B) Kavad
(C) Pungi (D) Ravan Hatha
(E)  Question not attempted
witfietet foreft ot defer forer sht & &2
(A)  wETE (B) FES
(©) gt (D) Te &edT
(E) orfaiaug

50 In the first stage of formation of present state of Rajasthan Cabinet of matsya union was formed under the
leadership of
(A) Shri Shobha Ram (B)  Shri Alwar Singh
(C)  Shri Peeru Singh (D)  Shri Mange Ram

(E)  Question not attempted

FAHT TSTEAT TS o TS o TIT =07 § Ao € 3 Hiwieet forereh Jqed § mfaa fera mmam o

(A) eI (B) o 3ot e
(C) e fiz (D) samTm
(E) orfaiaud
51 was first called ‘Maru’ then ‘Maruvara’ and later on came to be called ‘Marwar’.

Choose the most appropriate option from below:
(A) Jaipur (B) Jodhpur
(C) Bharatpur (D) Dholpur
(E)  Question not attempted
S8 =T 9T et ST 9T, TR wRe 37 o1e § AT el ST of:-

7 1 & T S forehed <

(A) S (B) S¥q
(C) R (D) AR
(E) a9

52 Bamboo forest is found in which of the following districts of Rajasthan?
Choose the most appropriate option from below:
(A) Banswara (B) Bikaner
(C) Churu (D) Jaisalmer

(E)  Question not attempted
EIS AR UC) (Bamboo forest) T o ffeiad ° @ fore frer o aram srar 22

forer & & o SRIeh forehed <01

(A) EETST (B) sf@mR
C) % (D) AR
(E) Srgaiaug

Q3] J& 1 [ P.T.O.



53

54

55

56

57

58

Chuliya waterfall is located in which of the following regions of Rajasthan?

Choose the most appropriate option from below:

(A) Eastern plain region (B) Aravali region

(C)  South eastern plateau region (D) Western desert plain region
(E)  Question not attempted

Ffera STt T o frefafaa 3 & o & 8 srafted 22

71 1 4 wo 3o forehed |

(A) ool ert & (B) 3acl &=

(C)  aferor geff wardt &t (D) e wererctis fe e
(E) gaid 9

What percentage of the total land mass area of India is in Rajasthan?
Choose the most appropriate option from below:
TR o 3T T ST TR SITRTA ST TIST&er | 27

7 4 & Ho S forehed
(A 7.3% (B) 133%
(C)  10.4% (D) 12.4%

(E)  Question not attempted / ?ﬂiﬁli?a Iq

Rosewood, Mahogony and Ebony species of trees are found in which type of the following forest areas?
Choose the most appropriate option from below:

(A) Tropical Evergreen (B) Tropical Thorn

(C) Montane (D) Littoral and Swamp

(E)  Question not attempted

SIS, HERTIHT 3T Tart i o U FHefeTiad o § fore o &1 | ag ST 22

frer & & wred v forehed <)

(A) ST TEEER (B) WIS FHidaR
(C) vdd™ (D) T IR geAgeAr
(E) a9

frafafaa o a1 & W 1= 2

(A) T (B) T

(C) = (D) U=

(E) a9

et | ffea o &-

(A) o (B) 39

© = D) =g

(E) a9

frfeRaa amerit & S77s a1 -

(A)  3AT9ehT o fire) (B) @& nT & T
(C) 39 F&f 331 (D) ST Ol % A | A3T 9|
(E) Ay

N

Q3] J& 12 [ P.T.O.



59  Inthe 12th Five Year Plan of Rajasthan which sector has been given maximum allocation?
(A) Industries (B) Power
(C) Agriculture and Rural Development (D) Social and Community Service

(E)  Question not attempted

TTEA hl 124 Gt A 7 forer &5 Rl 31frenay reie feam mam &2

(A) =T (B) UK
(C) iy ud wTeior foshmer (D) WHTISTeh TR AT HalT
(E) raid 9

60  What is the minimum time limit for workers under MNREGA to get the wages for their work?
(A) aweek (B) afortnight
(C) three weeks (D) amonth
(E)  Question not attempted

AT o e SATHeRT bl 37k T o6 FoT TGl T T =T Sy ST 37 22

(A) Uk HHR (B) usEfe
(C) daaR (D) e HEHT
(E) Srgaiaug

61  Select the most incorrect statement about Ganeshwar excavations.
(A) Ganeshwar is an important site of copper culture.
(B) It was discovered at the source of river Kantali at Neem Ka Thana.
(C) In Ganeshwar excavations undertaken by the Department of Archaeology and Museums, Rajasthan,
brought to light about a 5000 (approx.) year old culture.
(D) Here copper was received from Harappans.

(E)  Question not attempted

O ShT GRTS o WaH H T 3T T H T R

(A)  TIOP dlel T HEHTd ohT T HeeaqUl €9 |

(B)  TOrGR, 19 T AT | Sheledt T o T W @iSiT T8

(C)  TIOIER H TSReRIT YTdicel el SRTer forviieT ST 26l 178 GaTs H AT 5000 TN YT HEfcl Jehrar # 3775

%

(D) & ST Y eI ITH o ST o)

(E) 3rgaid 9
62  Kalibangan is located in which place of Rajasthan?
(A) Jaipur (B) Sikar
(C) Hanumangarh (D)  Sri Ganganagar
(E)  Question not attempted
RIS TS o ford T2 oX ferq 22
(A) TR (B)
(C) TG D) i
(E) Srfaiayy

Q3] J& 13 [ P.T.O.



63  After the death of Rana Ratan Singh who became the ruler of Mewar?
(A) Maharana Pratap (B) Maharana Raj Singh
(C) Rana Vikramaditya (D) Rana Amar Singh
(E)  Question not attempted
O T T T T % T2 HaTS o e i a1

(A) WERIVI Yard (B) HERN U g
(C)  Tom forskfeer (D) T TR fiE
(E) a9
64  Who was the first woman chairperson of Rajasthan Human Rights Commission?
(A) Kamla Beniwal (B) Kanta Bhatnagar
(C) Pratibha Patil (D) Shanta Kumari

(E)  Question not attempted

TSTEAT AR 3TN Sl Teelt Afeer 3Teaet shiT of?

(A) T ST (B) T eATR
(C)  ufaur ufeet (D) STidT HAR
(E) 3gaiid o

65  The body working at the highest level of Rajasthan administration system is :
Choose the most appropriate option from below:
(A) Ministers (B) Government Secretariat
(C) Governor’s office (D)  Chief Minister’s office
(E)  Question not attempted

TSTEATT TS SorTedt (Roreem) o Seran &t W ahrEiE e g

Freaferfiae & Terd S forbet 5 -
(A) WAt (B) TRl Gl
(C) TSIUTA FrATed (D) Tl HrRITe
(E) a9

66  Porpanaikottai, Sangam age site, is located in which state?
(A) Karnataka (B) Kerala
(C)  Arunachal Pradesh (D) Tamil Nadu
(E)  Question not attempted
Td-eRIgs, ETH I o, fohe s | feord 22
(A) FAH (B) A
(C) U= 9eTT (D) dfeTg
(E) 3rgaid 9

67  Who is the first Asian player to be nominated for International Tennis Hall of Fame?
(A)  Yuki Bhambri (B) Rohan Bopanna
(C) Leander Paes (D) Mahesh Bhupati

(E)  Question not attempted

ST S BT AT B o fIT AR 81 aTel I8cl TRTTS RACTS! &hid &7

(A) T st (B) U= =T
(C) forderom (D) weRT YU
(E) i wd

Q3] J& 14 [ P.T.O.



68  How many types of genotypes are formed in F2 generation of monohybrid cross?

TsheTHRT HhTUT 3T F2 Wit & foha werrt & Sfisreq ffifa 2ra &2
A 9 B) 4
© 3 D) 2
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

69  Which coal contains the highest amount of carbon?

(A) Lignite (B) Peat
(C) Bituminous (D) Anthracite
(E)  Question not attempted
T3 hiet | STRIShaH HTAT § ShTal- TR ST 87
A) fomee (B) i
(©)  forgfrrrer (D) THEEE
(E) 3raid 9
70  Select the plants found in the subtropical mountain forest in Rajasthan :
(A) Khejri, Ber (B) Ker, Thor, Foag
(C) Mango, Neem (D) Dhokra, Palash

(E)  Question not attempted
TS H 3U-IUIEhH{ S e T TRTET 3 H UTC ST aTe Jafi ot <= shifsrdl

(A) TElL R (B) R, oI, T
(C) o, m (D) &R, TaATeT
(E) Ffaiayy
71  Which of the following is the state flower of Rajasthan and is also a timber yielding tree?
(A) Khejri (B) Sunhemp
(C) Rohida (D)  Shisham

(E)  Question not attempted

freafriiad & & i |1 o 1 U5 T € SR T SHRAT e A s dTe g +ff 22

(A) T (B) @
(©) Ufeer (D) e
(E) a9

72 Choose the word similar in meaning to- TENACIOUS
(A) timid (B) modest
(C) resolute (D) malign

(E)  Question not attempted

73 Which of the following is NOT an input device of computer?
(A) Trackball (B) Image scanner
(C) Joystick (D) Monitor
(E)  Question not attempted

freafefiaa & & i |1 et o1 Ue $e feamsw AEt &

(A) et (B) ZASIEHT
(C) Srfee (D) HifreR
(E) Srgaiaug

Q3] J& 15

[ P.T.O.



74  Data are transferred between different components of a computer system using physical wires called :
(A) CPU (B) Flowchart
(C) Bus (D) WAN
(E)  Question not attempted

ST ! FHrA e o fafieT Hereshi o Hear siifen TR T ST 3ok SATTANG fohaT SITT @ 370 el ST 8

(A) Hidg (B) WA
(C) =& (D) o
(E) 3rgaid o

75  Choose the most appropriate word to complete the given sentence:

A teetotaller is one who abstains alcohol.
(A) in (B) with
(C) from (D) on

(E)  Question not attempted

76  Choose the most appropriate Hindi word for the given word: REGULATION

(A) T (B) geedTE
(C) fafee (D) Xt

(E)  Question not attempted

77  Name the largest Solar Park of India which is situated in Rajasthan.
Choose the most appropriate option from below:
(A) Charanka Solar Park (B) Pavagadh Solar Park
(C) Bhadla Solar Park (D) Mandsaur Solar Park
(E)  Question not attempted

W o G 1S FIeT TTeh T 19 ard ST fob Treer # feorq 82

et o & s SRk forehed <[4l

(A) =T AR Teh (B) UGG Wik UTeh
(C) vISdAT HIek UTeh (D) HEHR ek Tk
(E) 3Tl o=

78  Rajasthan Small Industries Corporation was established in the year:-
TSTET Y TN 0T T ST fore o g oft
(A) 1947 (B) 1951
(©) 1961 (D) 1967
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
Q13 ] -Ié 16 [ P.T.O.



79  Which of'the following projects has brought a revolutionary change in the tribal dominated areas of Rajasthan?
Choose the most appropriate option from below:
(A) Bhakra Nangal Dam Project (B) Jawahar Sagar Dam Project
(C)  Veer Sagar Dam Project (D) Mahi Bajaj Sagar Dam Project
(E)  Question not attempted

freaferfiaa & & fore afISHT & T o SATSaTe S5t &= § ShTT-qehT qiad ST 2

1 o & wer S forehed <

(A) TGS TS ST qiEnSTT (B) SETeX TR ey IR iSHT
(C) &R |WR e afEisET (D) HTE SIS AR e GREiSHT
(E) Srgaiaug

80 frfcIRad W “wehwer’ f5RaT Ieh et i |1 82

(A) S SeRTETR) (B) TEASTT B
(C) HeugTwardl (D) IEH T GeramaT 2l
(E) raid 9
81 GOl o UK I 7 HFH AT o foTT ok 773 8-
(A) A (B) &ad
(C) ard (D) @l
(E) 3Tl o=
82 et -1 gl -1 | gafera hifs :
gt -1 (FETe) T 11 (37e)
a. G - THMT Tk T I ©TeRe % &
b. T ateAT I ohfe qied e
c. MWW | INRCCRICRECE ]
d. SRS IV.  ST90H SHe STd T
et faq e forspedt # @ wrafferer 3w S R :
(A) a-Lb-1V,c-II,d-1II B) a-ILb-MLc-Ld-IV
(C) a-NILb-Lc-I,d-1V D) a-ILb-Lc-TLd-IV
(E) 3rgaid o
83  foww wreg FrHfy - faee B-
A) fa+om B) fa+wm
(C) faw+m D) fa:+wm
(E) orfaiaud
84  -HAfa-STHIA" I8 T 1 ETd 37 T 7 4 -
(A) A - 30 (B) Udd - AR
(C) T - Sl (D) T - SAfeRm
(E) Srgaiaug

Q3] J& 17 [ P.T.O.



Read the passage and answer the questions that follow by choosing the correct option. (Q. 85 to 89)

Experts in climatology and other scientists are becoming extremely concerned about the changes to our climate
which are taking place. Admittedly, climate changes have occurred on our planet before. For example, there have
been several ice ages or glacial periods.

These climatic changes, however, were different from the modern ones in that they occurred gradually and, as far
as we know, naturally. The changes currently being monitored are said to be the result not of natural causes, but of
human activity. Furthermore, the rate of change is becoming alarmingly rapid.

The major problem is that the planet appears to be warming up. According to some experts, this warming process,
known as global warming, is occurring at a rate unprecedented in the last 10,000 years. The implications for the
planet are very serious. Rising global temperatures could give rise to such ecological disasters as extremely high
increase in the incidence of flooding and of droughts. These in turn could have a harmful effect on agriculture.

It is thought that this unusual warming of the Earth has been caused by so-called greenhouse gases, such as carbon
dioxide, being emitted into the atmosphere by car engines and modern industrial processes, for example. Such gases
not only add to the pollution of the atmosphere, but also create a greenhouse effect, by which the heat of the sun is
trapped. This leads to the warming up of the planet.

Politicians are also concerned about climate change and there are now regular summits on the subject, attended by
representatives from around 180 of the world’s industrialized countries. Of these summits, the most important one
took place in Kyoto in Japan in 1997. There it was agreed that the most industrialized countries would try to reduce
the volume of greenhouse gas emissions and were given targets for this reduction of emissions.

It was also suggested that more forests should be planted to create so-called sinks to absorb greenhouse gases. At
least part of the problem of rapid climate change has been caused by too drastic deforestation.

Sadly, the targets are not being met. Even more sadly, global warming about climate changes are often still being

regarded as scaremongering.

85  Identify the correct statements
a. The ice ages or glacial periods are examples of climate changes in the modern times.
b. In the past, climate changes occurred gradually and naturally.
Rising global tempratures can cause more flooding and droughts.
d. Greenhouse gases are given out by plants.
e. The climate changes today are dissimilar to those of the past.
Choose the most appropriate answer from the options given below:
(A) b, candeonly. (B) a,bandconly.
(C) b,aandd only. (D) c,dande only.
(E)  Question not attempted

86  The greenhouse effect is caused when
(A) The green trees form a canopy in the forest
(B) The roof is covered with green plants to keep the building cool
(C) The gases like carbon-dioxide trap the heat of the sun in the air
(D) The green coloured glass or mesh is used to cover the plants

(E)  Question not attempted

Q3] J& 18 [ P.T.O.



87  Which of the following were not suggested at the Kyoto summit?

a. Most industrialized countries would reduce emissions.

b. More forests should be cut to create the so called sinks.

C. The automobile industry should roll out electric vehicles.

d. Targets were set to reduce the volume of greenhouse gas emissions.
e. the rate of industrialization should be contained.

Choose the most appropriate answer from the options given below:

(A) a,bandconly. (B) b,candd only.
(C) c,dandeonly. (D) b, candeonly.
(E)  Question not attempted
88  The implications of an unprecedented rate of are very serious.
(A) Flooding & draughts (B) Global warming
(C) Ecological disaster (D) Kyoto summit

(E)  Question not attempted
89  Match List-I with List-1I

List-I (Words) List-II (Meaning)
a. Unprecedented L Forests land, which absorbs carbon-dioxide
from the air
b. Implications II.  That which has never happened before
C. Sinks II.  The deliberate spreading of frightening rumours
d. Scare mongering IV.  Something that is suggested
Choose the most appropriate answer from the options given below:
(A) a-ILb-ILc-MI,d-1IV B) a-ILb-IV,c-I,d-1I
(©) a-II,b-1IV,c-ILd-1 (D) a-1V,b-IL,c-1Ld-1

(E)  Question not attempted
90  Choose the most appropriate English translation of the given sentence

IRT SHT ferer ferarT 22
(A) Who has insulted him? (B) What has he been insulted by?
(C) Heisinsulted by whom? (D) Has he been insulted?

(E)  Question not attempted
91  Match List-I with List-1I

List-I (Forest Area) List-II (Place)
a Sariska L Alwar
b Darrah II. Kota
c. Mount Abu III. Karauli
d. Kailadevi IV. Sirohi
Gl -1 ol =i -11 | gaford shifsre ;
Tt -1 (3 &) Tt -1 (FAT)
a. WG I 3a
b. FiE . e
c. WA ML el
d.  haredEt v. Tt
Choose the most appropriate answer from the option given below:
et foq T forspedt # @ wafeen 3w S AT :
(A) a-ILb-MLc-I,d-IV B) a-IV,b-IIc-1,d-1I
(C) a-Lb-Il,c-1V,d-1II (D) a-ILb-Lc-IV,d-1I

(E)  Question not attempted / ﬂfﬁﬁﬁ Iq
Q13] .Ié 19 [ P.T.O.



92

93

94

95

96

()
A metal is in the form cubic crystal lattice. Lattice constant of unit cell is 2.88 A and density of metal is 7.20

gm/cm>. What is the number of unit cells for 100 gm metal?

TE oTq o oheee S1a STTcTeh o &9 H 2| Tehdh hiTBeRT T SITeTeh (aIdieh 2.88 A & T 91 1 7 7.20 gm/em’
21 100 UT GTq H Uk HITBHIAT hT T 1 82

(A)  6x10% (B) 5x10%8

(C) 2x 107! (D) 3x10%

(E)  Question not attempted / ﬂ@ﬁ'ﬁﬁ Iq

If the light from a distant object after refraction by eye-lens converges at a point in front of the retina, this
type of eye defect is called :

(A) myopia or near sightedness (B) hypermetropia or far sightedness

(C) presbyopia (D) astigmatism

(E)  Question not attempted

T GG T ST AT ToRI 1 HH U AT oh 378 FfS USAT o6 W U fofg wx AT 2 & 41 58 Yok o
I 319 I T AT 2 ;

(A)  HRITYET 1 fehe gigey (B)  wTSRHSIET a1 g g
(C) SrgEaffar (D) Afsigehar
(E) 3Tl o=

A dealer offers three successive discounts of 50%, 10%, 20% on an article. What is the single effective
discount rate?

T e fordl! I TR 50%, 10% 3T 20% I 1 D 3T 21 Tohet TTelt e 3T fopaHt 22

(A) 60% B) 64%

(©) 69% D) 72%

(E)  Question not attempted / ﬂ@ﬁﬁﬁ B

3
What is the equation of the hyperbola, the length of whose latus rectum is 8 and eccentricity is 757

S SR 1 AT T 2 o e S TS § AT e s 27

2 2

X y x2 2
XY 4 Yy _
(A) 25 20 (B) 20 25 =1
2 2 2 2
x°y Xy
© 16 25 (D) 25 16

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99

The shadow of the pole becomes 80 m longer when the altitude of the sun changes from 45° to 30°. Then the

height of the pole is:

STeT T T IAIT (TERIEYE) 45° § 30° TG & T ©W hT BT 80 HIeT T 1St &1 STl &, ol bl H5elTs 2
(A)  40(~3-1)m () (B) 30(\3+1)m(dr)

(©)  40(3+1)mH) (D)  80(3+1)meft)

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

Q3] J& 20 [ P.T.O.



97 A sum of money is to be distributed among P, Q, R, S in the ratio of 6:2:5:3. If R gets ¥ 2000 more than S,
then what is Q’s share?
T SRR P, Q, R, S % WEH 6:2:5:3 o AT H it hl SITeft 21 AT R I S & X 2000 (ks forerd € A1 Q &l
T fopaa 22
(A) 1,000 (B) 2,000
(©) 22,500 (D) 3,000
(E)  Question not attempted / ﬂaﬁﬁﬁ B

98  Kamal had 200 toffees. He gave 5% toffees to Ram, 15% toffees to Aman and one-fourth of the toffees to
Gopal. How many toffees are left with Kamal after the distribution?
S 3 T 200 Y offl ST 5% ST TH A, 15% ST S bl S et ST HT Lyt 9w e B e 39
e o SI1E FHHA o T fehaft SThT sT=rft? !
(A) 100 (B) 110
(©) 120 (D) 130
(E)  Question not attempted / aa?lﬁﬁ Iq

99  The branch of science which is related to the improvement of human race and is based on Mendel’s Law is-
(A) Anthropology (B) Eugenics
(C) Microbiology (D) Genetics
(E)  Question not attempted

forT it a7 T STt WiE S % U @ Heifed 8 ST ived & et o i -

(A) | / Gt (B) IS
(C) GewSIfaeh! / ATgshIaTEISTT (D) AT / ST
(E) orfaiaug
100 When F1 generation is crossed with any one parent, then it is called:-
(A) Testcross (B) Back cross
(C) Reciprocal cross (D) Dihybrid cross

(E)  Question not attempted
el F1 it o foeft off Teh Sk & HehtoT HTAT STl 2 1 3 hacrT 2-

(A)  wlEe oo (B) el HapoT
(C)  ScshH G (D) fagert dertor
(E) a9

101 Gandhi Sagar dam is built over which of the following rivers?
(A) Narmada (B) Sabarmati
(C) Chambal (D) Manas

(E)  Question not attempted
Teft TR St frefafaa o fore Tdt o ST T 22

(A) e (B) W&l
(C) =S (D) HFYE
(E) Srgaiaug

Q3] J& 21 [ P.T.O.



102 The rivers originating from the Amarkantak range, flowing in all directions, is an example of which of the
following type of drainage patterns?
(A) Trellis (B) Centripetal
(C) Dendritic (D) Radial
(E)  Question not attempted

Teheeh g At O frehet areft afeat gt fasmett & sedt @ s fafafaa 7 @ forg werr o6 St s19ame o wfaed

T 3T 87
(A) STAAT (B)  3Afwehst
(C) gHTHicH (D) 3=

)

(E) e wer

103  Which of the following mountain peaks is situated in India?

(A) Mt Everest (B) Mt. Dhaulagiri
(C) Mt. Annapurna (D) Mt. Kamet

(E)  Question not attempted

frfefaa & & & a1 udd fret wia # feora 22

(A) TS< TaE (B) HIS QAT
(C) TS SF=~qurt (D) U< HHE
(E) 3rgaid 9%

104 Where do women wear jewellery named ‘Borla’?
(A) Ear (B) Nose
(C) Hand (D) Head
(E)  Question not attempted

(A) & (B) AT
(©) ™ D) fa
(E) a9
105 According to census 2011 which of the following districts of Rajasthan has the highest literacy rate?
(A) Bikaner (B) Kota
(C) Churu (D) Jaipur

(E)  Question not attempted

2011 ¥ SFUHT o STER Frefafad & @ e o form e & wrerar o woer 31t 22

(A) s (B) T
€ =* (D) SE
(E) rfaiaws

Q3] J& 22 [ P.T.O.



106 Given below are two statements about Laterite soil:
Statement I: Laterite soil is found in Dungarpur, central and southern part of Udaipur and in Rajsamand
regions.
Statement II: It looks red due to presence of iron.
In light of the above statements,choose the most appropriate answer from the options given below.
(A) Both Statement I and Statement Il are true. (B) Both Statement I and Statement II are false.
(C) Statement I is true but Statement I is false. (D) Statement I is false but Statement II is true.
(E)  Question not attempted
= Tietse fagt s A A g e fau U &
HAT - [+ U3 gt YUY, IAqL o 7eg A 3 Tevft i 3 qorrsia &l 4 uTs STt 21
AT - I1 : A (3T it Sufefer 3 sRor 7 ATt it 2
T HeT oh AT H TR el § 8 SaiTeeh ST S o :

(A) o1 31T | & (B) YT I 3R 11 &1 T &
() wFAITAE, fFqFmnsmat| (D) HAAI3EA 2, fobe o I HA B
(E) Srfaiaug

107 TI=feiiad & 31T s gFiaT=i Iee Shi--8T 82

(A) @ (B) g
(€) Fg (D) 31
(E) orfaiaug

108 f=fafaad & w3 o1 faem wree 2-
A)  &fa B) 3§
(C) T (D) SfeHm
(E) i ys

109  3fehreleh Tsg “3fen’ o1 Fmfetiiaa & sh-ar s o7ef 72 22
(A) ge (B) fertr
€ = (D) ™
(E) Srpaiaug

110 The scientist who classified the blood into different blood groups is-
(A) Richard Lower (B) Jean-Baptiste
(C) Karl Landsteiner (D) Edmund King
(E)  Question not attempted

ST i T i Fafore SR it & aeffaet foeT o, 9 &

(A) TEEdRr (B) S -Sftewe
(C) el AreEd (D) TeHS T
(E) Sffaiaws

Q3] J& 23 [ P.T.O.



111 Person with blood group can accept blood from all, while person from blood group can
donate blood to all.

(A) O+ AB+  respectively B O0- AB+  respectively
< AB+ ; O- respectively D) AB+ ; O+ respectively
(E)  Question not attempted
FIYR ot ATl AT @l § T T80T S §hdT @, STafh FIYX it aTer Atk @t Rl W <
el 2l
(A) U O+ ; AB+ (B) shHEIT: O- AB +
(C) sHEAM:AB+ ; O- (D) @HEI: AB+ ; O+
(E) 3rgaid 9

112 Find the incorrect statement about:- The recommendations of the Ashok Mehta Committee on Panchayati
Raj are:
(A) The three tier system of Panchayati Raj should be replaced by a two tier system.
(B) If the Panchayati Institutions are superseded, elections must be held within one year.
(C) Reservation of seats for SCs and STs on the basis of their population.
(D) Official participation of political parties at all levels of Panchayati elections
(E)  Question not attempted

Ut T U 37Tk HedT Gihf st Tt o o o ST s o1 =g o :

(A) Bl demrdt O 3 T O g sgaeer aEr

(B) A deImercl ST T SATSHHOT fohaT ST 2, T o Y o f{ak <1a) shia ST =fey)
(C) Tt T & & foT Tfiel o1 STREIOT ShT SHEEAT & SR T

(D) U= ST HTHET § STk getl shi Tedish T U8 WIiERT

(E) oTaia g4
113 From which of the following Constitutions has the Indian Constitution borrowed the Directive Principles of
State Policy?
(A) British Constitution (B) Canadian Constitution
(C)  Irish Constitution (D) US Constitution

(E)  Question not attempted

freferfaa & o forg d@foram @ vy wiaum o Tsa & ifa s fagiat s wfiet fomar mem 22

(A) Tofesr dfoam (B) TSI T Gige=
(C) APRAS o1 Gigem (D) I T H o™
(E) Igaid o=
114 The area of the triangle formed by the lines 2x +y =4, x —y + 1 = 0 and x-axis is :
(A) 2 squnits (B) 3 squnits
(C) 4 5squnits (D) 5 squnits

(E)  Question not attempted

WAl 2x +y =4, x —y + 1 = 0 & x-37& § [ Br{st 1 &t &

(A) 23 HE (B) 3agHR
(C) 4TgHR (D) SagHR
(E) 3rgaid 9

Q3] J& 24 [ P.T.O.



115 In the figure below, PQ is parallel to RS, /PQM = 80° and ~SMO = 25°. What is the value of ~OSM ?
= € TS STR{A | PQ, RS 3 §HIGL 8, ./ PQM = 80° 3T ./ SMO = 25° @1 .~ OSM T AT T &7

Q g M

S
(A)  50° (B) 60°
©) 55° (D) 65°

(E)  Question not attempted / 313)?[['\{?[ I4q

116 Take given statements to be true even if they seem to be at variance from commonly known facts. Read the
conclusions and then decide which of the given conclusions logically follows from the given statements.
Statement : No singer is director

Some directors are teachers
Some teachers are students
Conclusion: (I) Some singers are students
(IT) Some directors are students
(A)  Only conclusion I follows (B)  Only conclusion II follows
(C)  Neither conclusion I nor II follows (D) Both conclusions I and II follows

(E)  Question not attempted

Ffe faw 70 H=T ohl G HIHT ST, STefeh 39 1= SRR & ST 9T R=rdT Udid ard) 2, ar forenst o1 st
o ST e o < fo ot | fearm wrarm frered wrgferd €9 & e o o1 I T 2l
HYT: HIS TFH Howw T 2l

F TaxTeh ST 2

FS LA B 2
feamt: (1) %o TRk BT 2

(I1) o ek 3 €l
(A) oo s 1o (B) hae frepd [T @
(C) T fseped [ sroram 1T &t & (D) <FT s [ wE T e
(E) a9
117 An object is placed at 30cm in front of a concave mirror of radius of curvature 15cm. The image formed will

be :-
(A) magnified, real and inverted (B) diminished, real and inverted
(C) magnified, virtual and erect (D) of same size that of object, real and inverted.

(E)  Question not attempted

U A T 15 Yt AT Broa aTel SFadet 90T o AT 30 ST Sl X T ST & AT S et Srdtsier i

(A) TETd (SeT), AR 3T 3 (B) BT, ITEdfeeh 3R 3wl
(C) SArafed (seT), Tt S Hter (D) TG o SR, ATE e TR 3T
(E) 3rgaid 9

Q3] J& 25 [ P.T.O.



118

119

120

121

122

123

124

India’s first solar observatory has begun its journey to the destination of Sun-Earth L1 point on-
(A) January 25, 2024 (B) September 02, 2023
(C) November 07, 2023 (D) December 01, 2023

(E)  Question not attempted
I T Tt I SeITett 4 G - el o Tiaed feig L1 ol A e S1rd <h off?

(A) SHad 25,2024 B) fad=x 02,2023
(C) H&sR 07,2023 (D) feE=® 01,2023
(E) raid 9

Which one is the operational heavy lift launch vehicle of ISRO used to launch the Chandrayaan-3 mission?
EIM-3 T 1 &= (F890T) S 3 foTT 367 (ISRO) 1 HshTeHeh 2t forde o= are s | 82

(A) LVM3-M4 (B) GSLV MK2

(C) GSLV MK3 (D) GSLV

(E)  Question not attempted / iﬂaﬁ'ﬁﬁ 99

fSrer T A Ty S foreieT STaTg ST, 9 e 8-

(A)  fergroor ®) fde

(C) Toramfersror (D) HTEHTHe farssor

(E) 3rgaid 9

ffafaa 7 37 TRl W68 81 22

(A) Fa=ma (B) A

(C) 3\ D) ¥R

(E) 3rgaid 9

‘3T A - ARV b &6 ST o1 =1’ 39 oy | 373 &-

A) ©H B) A&

(C) wmEm D) ®

(E) i ys

At what time between 7 and 8 O’clock will the hands of a clock be in the straight line but not together?

(A) 5 min past 7 (B) 51—51 min past 7
3

(C) 20 min past 7 (D) 7E min past 7

(E)  Question not attempted

T 7 3R 8 TS o e JTehT FAT Fohe T TR TS B LA Wl H T Aok T |Ter A 2t

(A) 75 e (B) 7SI 5% fre
(C) 7w 20 e & (D) 7 ST 7% e o
(E) i o

‘AN TTe8 o Gy forade B-

(A) S=ET+T (B) 3I==:+W

(C) 3d+=RT (D) 39+ TT

(E) a9

Q3] J& 26 [ P.T.O.



125 In which category of Pradhan Mantri MUDRA Yojana of FY 2023-24 maximum accounts are there in

Rajasthan?
(A) Kishore (B)  Shishu
(C) Tarun (D) Vyask

(E)  Question not attempted

ST FET AT o Tt W 2023-24 H TS | waitaes for it o @ @l

(A) ®) frg
(C) deum (D) FEh
(E) raid 9
126  Which of the following is an important ‘ISABGOL’ producing area of Rajasthan?
(A) Barmer (B) Jodhpur
(C) Jaipur (D) Kota

(E)  Question not attempted

freafcTfiaa o & TSTET 26T hi |1 &35 ok Hecd Ul “SHehTIcT ScuTeeh &1 €7

(A) TS (B) S
© IR (D) re
(E) Srpaiaug

127 Which City of Rajasthan is known as “City of Garments”?
(A) Bhilwara (B) Bikaner
(C) Jaipur (D) Kota

(E)  Question not attempted

TISTEIT T 31 T 8T IR o STeX (et 337 ) o 19 & ST ST 22

(A)  HietersT (B) PR
(C) AR (D) @IaT
(E) aid 9

128 What is the minimum number of meetings of Gram Sabha to be held in Rajasthan in a year under the
Panchayati Raj System?
Choose the most appropriate option from below:

TSTET H Ui U e o Td Ueh o H TR i arel] 319 T i S3ehi ohl =Iad & foha 82

et o O wor SRIeh forehed <l
A) 4 (B) 3
© 2 D) 1

(E)  Question not attempted / ﬂaﬁﬁﬁ Iq

129 Which of the following is the first Super Thermal Power Plant of Rajasthan?
Choose the most appropriate option from below:
(A) Suratgarh Thermal Power Station (B) Jawahar Sagar Hydroelectric Power Station
(C) Chhabra Thermal Power Plant (D) Mahi Bajaj Sagar Hydro Power Plant
(E)  Question not attempted
foret & & -6 TSI T o GO Yt aTa Wi 82

forer & & o SRIeh forehed <01

(A) YIAETG IS TR TRE (B)  STITEX U Y TeISTedl UTaR T3
©) BTEST YHA UTeR WA (D) W&l SIS 9K B8 UTel Wiie
(E) i@ yy

Q3] J& 27 [ P.T.O.



130 In alkaline medium, the equivalent weight of KMnOy is -
&R AT H, KMnO,, 3T el W -

A) %(52.66) ®) %(31.60)

©) %(26.33) (D) M (158.00)
(E)  Question not attempted / aagﬂiia Iq

131 CH3COOC,H;5+H,0 — CH;COOH + C,HsOH
In the above reaction, which of the compound is the “auto catalyst™?
SR T TS SATITSRAT o hi |1 AT T IR hl il 1l T 22
(A) CH;COOC,Hs (B) H,O
(C) CH;COOH (D) C,Hs;OH
(E)  Question not attempted / aﬂﬁﬁﬁ B

132 Zn+CuSO, —> Zn SO, +Cu

Which is being oxidised in the above reaction?

R A S i St
(A) Zn (B) ZnSO,
(C) Cu (D) CuSO,

(E)  Question not attempted / 313?”3?("1 99

133  Choose the most appropriate passive form of the given sentence:
People must not leave bicycles in the hall.
(A) Nobody should leave bicycles in the hall.
(B) Bicycles must not be left in the hall.
(C) The bicycles are not to be left in the hall by the people.
(D) The hall must not have any bicycles of people.
(E)  Question not attempted

134 Choose the most appropriate option to fill in the blanks:

It was windy morning but they still hired boat and went for sail
along coast.

(A) a,x,a,the (B) the,a,x,a

(C) the, x, x, the (D) a,a,a,the

(E)  Question not attempted

135 Choose the most appropriate options to fill in the blanks:

my friends are busy tonight. of them are writing an exam the next day, but
of them were still ready to party and so far of them have confirmed.

(A) Some, some, some, all (B) most, none, all, some

(C) none, most, all, none (D) All, most, some, none

(E)  Question not attempted

Q3] J& 28 [ P.T.O.



136 33T T WY TETSR T Wl 37 2

(A) IS FHELTTEAT (B) = fiemm
(C) o o /T (D) ST gLEAT
(E) Srfaiayy
137 TR H [ a1 I W68 &-
a. fufa b. B
C. asfiate d. graed
€. I
et fow T forhedt H @ wifereh 3Ugh 3R I :
(A) a,cd (B) b,c,d
(€) c,d,e (D) b,d,e
(E) a9
138 fr=fafead ‘Corrigendum’ %%‘QWMW%—
(A) few (B) Ufws
(C) 3Tged (D) H=1
(E) rfaiays

139 Some boys are standing in a queue facing North. Kamal is 34th from the left end while Ravi is 20th from the
right end and Ravi is 90 to the right of Eshaan. If Kamal stands second to the left of eshaan, then find out the
total number of boys in the row?

S TTgeh Ueh Ufth H 3T AT ol ST 7 fohe EU @ &1 et T B 34 0 Sfaifeh U e D H 204 TR
e, ST T qTfeett T 93 T T ST 81 AT FHHA, ST o 1A L GEL T TSI &1l Uieh § ASehT ol el

&1 )
(A) 60 (B) 62
(C) 64 (D) 66

(E)  Question not attempted / 33!1!?”3??1 I

140 There is certain relationship between the pair on the left side of :: Set up the same relationship on the right
side of :: then find out which option would replace the ‘2’
LANGUAGE : PCRIYCKG :: COMPUTER : ?
12 o ST T © ITTCA o HEA 0 Hoid BId © :: o QTTe o T TeT Heley TR bt QTSI Tt T, fof 2 o e
T I | forehicq 317 HehaT 22
LANGUAGE : PCRIYCKG :: COMPUTER : ?
(A) GQMNYVIT (B) GQRRYVIT
(C) GQQRYVIT (D) GQQRYSIT
(E)  Question not attempted / ﬂ@ﬁﬁﬁ il

Q3] J& 29 [ P.T.O.



141  The value of [log;, (5log;, 100)]? is:

[log o (5log;o 100)]> T T &:-
1

W 3 (B)
1
© ¢ (D)
(E)  Question not attempted / ﬂaﬂﬁﬁ Iq
142 Ifsin 23°= %, then sec 23° - sin 67° is equal to :
afg 230 = % T sec 23° - sin 67° TR R :
a
(A -2 B)
a
© i (D)

(E)  Question not attempted / aagaiia B

143

bB? —a?

A solid metallic cyclinder whose radius and height are equal to each other is to be melted and 162 identical

solid balls are to be recasted from the liquid metal, so formed. What is the ratio of the radius of a ball to the

radius of cylinder?

T 314 HTfcdeh sio, Forehl Frsa T SeiTs Tk gat o WA €, 2l TUerell st Suehl atet o1 @ 162 WHH 319 718
TR A 8| T8 Y e v feiet ot B w1 stgord @ 2

(A) 1:4
C 1:6
(E)  Question not attempted / ﬂoqﬂif[ﬂ Iq

(B)
D)

1:5
1:8

Incineration

Recycling

STATT STHT

caprolactam

Isoprene

ERIGERL)
A

144  Which technique is suitable for the disposal of biomedical waste?
(A) Disposal in water B)
(C) Landfill (D)
(E)  Question not attempted
Si-FerfereaT STafRTe e i 3w e o:-
(A) T foem (B)
(C) <iefther (D)
(E) 3rgaid 9

145 Natural rubber is a polymer of :
(A) Buna-N (B)
(C) Neoprene (D)
(E)  Question not attempted
e e FATRad o agae © -
(A) ST (Buna-N) (B)
(©) e (D)
(E) Srfaiayy

Q13] J& 30

[ P.T.O.



146 The organic compound can be obtained from the living organisms only and cannot be synthesized by artificial
methods in laboratory. This is called :
(A) Freons Theory (B) Wohler Theory
(C) Vital Force Theory (D) Theory of Hydrocarbons
(E)  Question not attempted
el fieh ATTeRT Rl Searet Sfifera St & € STe feram ST HehdT & 37 3eht STt § sbm fafert g w@sgfva T
foarT ST ErehaT 21 I8 el 8-

(A) Tram fagia (B) drer fogia
(C) 3o - ik frgia (D) TTESIhET fgid
(E) rJaid o=

147 In Microsoft word, which of the following provides information about the current document?
(A) Standard Toolbar (B) Tabstop
(C) Status bar (D) View buttons
(E)  Question not attempted

ArEshiETR 9 | ffafiad o | SiH =Te] SETas o o H ST T&H T 82

(A) TS TTER (B) @&
(C) TLHAR (D) HweH
(E) 3Tl o1

148  Which of the following is NOT a function of MS Excel?
(A) Count () (B) MIN()
(C©) MAX)() (D)  Subtract ()
(E)  Question not attempted
frefetfiad o & &9 Tt 1 e T8t 82
(A) HZ() (B)  THITEEA ()
(C) T () (D)  HeIgH ()
(E) rgaid 9

149 1 ZB (Zettabyte) is equal to:
1 ZB (Zettabyte) T 2:
(A) 1024 EB (B) 1024ZB
(C) 1024KB (D) 1024 GB
(E)  Question not attempted / \’ﬂfﬁﬁﬁ 99

150 Which of the following shortcut key of PowerPoint that helps to present the slides from the beginning?
frfefad ® & i diar dige il M H (key) B ST TR H TATEE Isic A H 7ag L 22
(A) F1 (B) F7
(C) F5 (D) F4
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

Q3] J& 31 [ P.T.O.
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